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I. Read the question carefully and circle the correct answer. 

 
1. Reena had 385 marbles. Her brother had 215 marbles. How many marbles did they have in 

all? 
  
a. 283                             b. 485                             c. 600                           d. 590 
 

2. The sum of the greatest 3-digit number and the smallest 4-digit number is_________ 
 

a. 1090                           b. 1009                            c. 1099                         d. 1999 
 

3. What is the sum of 5900 + 1100? 
 
a. 7000                           b. 6800                            c. 6000                         d. 6600 
 

4. The answer in addition is called the ___________. 
 
a. quotient                       b. sum                            c. difference                   d. product 
 
 

II. Using the property of addition solve the following. 
 

a. 2041 + 1162 = _____________ + 2041 

b.  2445 + 0 = _____________ 

c. 1231 + 2041 + 3426 = 3426 + 1231 + ___________ 

d.  ____________ + 5942 = 5942 

e. 2400 + 1 = _____________ 
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III. Arrange the following and add (without regrouping) 
 

a. 234 + 244                                                                              b. 6113 + 2165  
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IV. Arrange the following and add (with regrouping) 
 

a. 456 + 434                                                                             b. 5135 + 4335 
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V. Solve the following story sum. 
 

a. There are 2468 buffaloes and 1200 goats in a dairy. How many cattle are there in the 
dairy? 
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